{ 12th Science-: Maths
’\ » Indefinite Integration

Qll:llil\' Checkers

SEAT NO:

DATE:

TIME: 1 Hours

MARKS: 25

Note:-
1. All Questions are compulsory.
2. Numbers on the right indicate full marks.

Section A

Q.1 Select and write the correct answer.

1.
/:1;”” (1 +logz) .dx =

1
A)§ (1+1logz)’4+¢ B z¥ 4 ¢

O x" logx + ¢ D)z* 4+ ¢

1 1
If /tan3x csecdr . dx = <—) secx — <—> secx + ¢ then (m, n) =

A) (5, 3) B) (3, 5)
€ 1 1 D) (4, 4
53 ) (4, 4)

Q.2 Answer the following.

Evaluate /\/1 + sin2zx . dx
Evaluate /\/1 — cos2z . dx

Integrate (2 + cot x - coseczx)-ex w. r. t. X

Section B
Attempt any Four

3 sin 4
Q Evaluate / dx

cos 2z
Q4 Integrate x9-sec2 (xm) W. r. t. X
Q> Evaluate / 3 dx
Vie — 2 — Tx — 5
Q.6 -2

Integrate log (log x) + (log x)

Q.7 Integrate (6 + 5)% with respect to the respective variable.

Q.8 3logx 4 1 1y~

Integrate e w. r. t. x

Section C
Attempt any Two

(4)

(3)

(2)

(2)

(2)

(2)
(2)
(2)




Q.9

Q.10
Q.11

Q.12

Q.13

3 — 2cos 2z
Integrate 4% .4/g3 + 23 W.r.t.Xx

2X

1
Integrate .dr w.r.t.x

Integrate e~ - sin 3x w.r.t. X

Section D
Attempt any One

sin z
Evaluate / dx

sin3z

3cosz
Evaluate - - . dx
4sin?z + 4sinz — 1

(3)

(3)
(3)

(4)

(4)



